RIRX  RERXGESE NS ETERELK

(Sf 743 H 1 HEFAE)

INEE R
BER BERL R 2 % (FEE#D)
1 FEHEFIVUNER FEEEET. F{EEEE., FEE—TH 8,139 4,021 4,118 13X
2 FEHERIZDER ME—-Z=TH 4,476 2,296 2,180 13X
3 BEeERSoT4aT7EVE— B/ HE, F{ERBE (24~#%) , 981 2,518 2,463 13X
4 FEHERR/NER FEEREZ-TH. FEEET (1~23) 4,693 2, 355 2,338 13X
5 FEHERE/NER FE=~ETH 5,740 2,920 2,820 13X
6 FiEFE FE— - ZTH. FEHET 6,418 3,294 3,124 F13X
T [E—hER FTRBFE. TRARE §.350] 3,199 3,151 ZI3x
8 FHEINER FEExTE (1~28) . FEKET—~=TH 6, 301 3,224 3,077 13X
Y [TEEIER %E%Eg~$ﬁ¢ﬁm\$ﬁﬁim(w~ﬁ)\¥Ew* T 3858 3857 g
0 |TEREITR FEANE. FTREH. FTEMA. FEH 222] 5214 5.008] B3R
1 TETREREVS— REAE—. ZTH 4,614 2,258 2, 356 F13X
12 LB/ mE—-=ZTH. MiZ—~=TH 6, 550 3, 356 3,194 E2X
T |ERELIER ER=1H. RRE1E. BHA_TH. FR—T8 (I~ 9870 4008  A0M| oo
17) . BHOE—TH (2~6)
14 |FHEERtEVZ— #EH—-Z=-TH 5,126 2,578 2,548 E29X
15 Tt E R 2 — B2zWN—-ZTH. #—TH. I&t=-=TH 6,818 3,383 3,435 E29X
16 STk /hEdR Idkm - A TH 4, 440 2,080 2,360 E29X
17 |m/IhER Id—TH. B=TH. 6, 555 3,174 3, 381 FIX
18 Fih/NFER m—TH 5,523 2,719 2,804 F2X
0 |[FADER FAE BB - E - AK—TH. 7563 3,817 3,746] .
AKZTH (1~28) 29K
20 HEFNREE HEH— - ZTH. AKZTH (29~#) . B=TH (I~ 6, 960 3,440 3,520 -
17) 20K
21 FFHH/NER BEHHAAENE - ATH, BHHFARE=TH 6, 980 3,448 3,532 HEIX
22 FERPER BHHAE—~=ZTH. BR=TH (18~#%) 8,199 3, 895 4, 304 E29X
23 ERINER mEHFHFRE— - ZTH 6, 834 3,297 3,537 HF13X
24 N BER=TH 4,256 2,108 2,148 E13X
25 FHIK YIESE EE—-Z=TH 5, 506 2,857 2,649 F13X
26 BN IhNe—-ZTH. EH—-ZTH 8,757 4,429 4,328 29X
27 BEEZINER HBE—-=Z-mTH. #EHATH (1~4) 5, 858 3,018 2, 840 13X
28 |BAFER BHE_TH. BEHATH G~#%) . BHAAITH 8,173 4,009 7164 ®13x
29 |BE/IMER #wEAt-/\TH. 885—TH 10, 211 4,931 5,280 £13X
0 |BAVERECE—HLTE |BE—-=TH 7,280]  3,613] 3,667 13X
HIEETEEA EH— W -H-ATH 8, 147 4,025 7122 ®13x
32 FRAEINEAR hRAB—TH (1~11) | fFRARIZ - =TH. 9,383 4,482 4,901 e
RUETHE %13
33 SER P ER HM=TH (1~12, 14~19) | E&E=TH. 9,550 4 825 4,725 e
Ah—--=TH F13X
34 AN Byiy—+-Z+-=TH 8,172 4,112 4,060 £13X
35 FIREONEE mEHE—~mUTH 7,547 3,752 3,795 £13X
36 F+—thEiR FHITH. shE—TH. shE=TH (1~15) 6, 925 3,482 3, 443 F13X
37 BAFE /N ME—~Z=TH. &3/ tTH. , 937 5,545 5,392 e
ARETH (1~8) %13
38 BIEH PR #H=TH (11~#&) . ##¥EW-ATH. , 845 5,626 5,219 e
BEE—TH F13X
39 IR HHE— - ZTH. ##=TH (1~16) ,294 5 119 5,175 £13X
40 =B /hER Ri—--ZTH. E&#E-TH , 291 4,216 4,075 F13X
41 BHELT /N RM=TH (13-20) . EfMIm™ - ATH ,614 4,306 4,308 #E13X
42 EM/NERK dijil—-ZTH , 689 2,310 2,379 #E13X
43 dllhigt > 2 — dJII=~ATH ,418 3, 266 3,152 #E13X
44 I INEAR KAEA=~ETH ,027 4,189 3, 838 £13X
45 HBAREAN L VB AL FE R RBZTH. dtinERr, #EA—TH. ,614 4,454 4,160
#HEBAZTH (1~6) . #BA=TH (1~10) . FE13X
W — - —TH
46 |fEM/NER miEM—~=TH , 309 , 281 ,028 £13X
47 |FEM R fEMl— - ZTH. mEdm - £ TH . 123 3, 686 4,037 £13X
48 (fEMEhEFE L2 — fEM=TH (1~32) . {EM@T@TH. , 209 4,132 ,077 -
EEETH (1~12) . BAMETE F1SX
49 FT R RAM—~METH 9,925 , 965 4,960 £13X
50 JIENEE —YRZI~MTH, #AMNMFE—-=TH. ,082 , 943 . 139 e
AR —~mTH =13k
VXERZEBERZEES
3 STam BRE/GERXEH DFEFEK




BIMX BRERXFEE AL EREEK
(Sf 743 H 1 HEFAE)

INBER K
BER SEFA i &t 5 # (EFEH)
51 |BRAIER ER—-_TH. BIR= -WmTH 9.516]  4.719]  4.797| g@13x
52 |RABINER AE—TH. MOB=TH 5,154] 2,461 2,693 13X
53 |MOBRINER AE—-=TH. "0B—-—TH 9, 731 4,763|  4.968] mI3m
54 |FLLERR BREAB—TH. TOBE~ATH 7.314]  3.482]  3.832] gi13x
55 |BEEAENER BRAB_~ETE. MOBEEtTH 8,239  3.988]  4.251| gmi3x
56 |BTHOER FE—TH (0~%) . FE=TH (1~6.8~19) . FEX 5,545 2,670 2,875
E—TH. ZFE=TH (1~3) . HI9X
B\BUOE—TH (1, 1~4) . BHOKR=-TH
57 |FRIER FE—TH (18~19) . FE_TH (I~2.9~%) . GFE= 9,845  4,957| 4,888
TH (7.20~%) . FREETH.
BERETH (1~4,6~17.20~%) . F29R
BEFR-TH (1~10.12~#) . BFA=TA.
58 |BEBHE TR BHAS  WTH. BFE—TH. 1,175 5 612 5 563
BRE-TE (1) . FHEE, HI9X
BEB=TH (3~8) . AGF—TH
5 |mBHE—IER WHHF— & -A-ETH 9,229] 4.544] 4,685 gmoox
60 |REREEIFR BENTH. &~ -tTH. B=TH 6,954]  3.487]  3.467| 29X
61 |BELNELEE BE—-—-=-&TH 6,884 3.456]  3.428] 29X
62 |BEE—IFR RER— -=TH. BEA~/\TH 8,866]  4.449]  4.417] gmo9x
63 |2 ANNVER ZA—TH. 2A=-TH (1~10) . 2A=TH (1~3) . 6,945  3,547] 3,398
ZAETE (1~12) . SAE. SAAE.
AB—TH. ABZTH (1~6) . ARHE - ATH. A%t EYAES
TH (2~8) . ASE
64 |[BHIFER EH=TH. B_TH (16~%) 5,429]  2,609] 2,820 ZEI3X
656 |BIENFER TEE=TH 33~1) . {eBETH (13~#&) . 6,058] 3,011 Y] p—
TElA~NTE ki
66 |chIIFL /R EHE—-—TH. ~"A—-—TH 8,188  4,203| 3,985 ZEI3X
67 |RFRIFR RFE—-_TH. RFE=TH (4~%) . 8,214|  4,248] 3,966
HEENTH, AFELTAH, HI9X
BEETHE (5.18~19) (REAR-TH
68 | EEHIFR EH—~=TH. RAHA. REA. 9,827 4,901 7926 ..
_“J%_TE %135
69 |ABTFER AB_TH (I~%) . AA=-WTH. AAEtTHE (1.9 6.104] 3,086 3,008 oo
~8) . ABN-ATH, 8ARTH (1~3, 9~#) =
70 | B XK@ FRAB—TH (12~%) . PRAHM - ETH 6,015]  2,910]  3,105| m13=
I EREEEE RAE—-—-T8 5,585|  2,772]  2.813] 3=
PRI BEFA_TH U~K) . ETAKE—~WmTH 6,352|  3,223]  3.129] o9
73 |RANER ARE=TH. AFWTH (9~%) . AFETH. 6,011 3,024 2,987 ..
RE—THE F13R
74 | RERIER ER—-—TH 5,463 2,695|  2,768] 13X
75 |ANDER AR -WTH. WA_TH (I~%) . 5, 871 298] 2883 oo
WA=TH (11~#) E13R
76 |FEFEE_RE FE=TH 6,929]  3,426]  3.503] WX
7T | EABE-IER ZA=TH (1~%) . EA=TH 4~%) . 6.980] 3,52  3.465] o0
EANETH., EAETH (13~#) . EAATH (4~8) ki
& = 572,182 285,617 286, 565
BNXEREBERZE S
X ORERE SRS/ NEEPOHRE 0EREKX




